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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2022

ECOACORO09T-EconoMmics (CC9)
INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KNG *Q"WW fact FC 1
Candidates should answer in their own words AT TS ST I TS TN
and adhere to the word limit as practicable. e PEE
I. Answer any five questions from the following: 2x5=10
feaferiae @-cieat =5 @ Te nies

(a) Distinguish between fixed and flexible accelerator.
o % ¢ SAffTeTNe $99-93 W AL F 9
(b) What is the Net Present Value (NPV) criterion of investment?
fRfvcaieR 6 IS e = & ¢
(c) What is secular stagnation?
wfifen Rt e T 6 9
(d) What happens to velocity of money circulation with rise in rate of interest?
MR RIER Jian [FSIR ToInE TV [RoNS 2doife 3 9
(e¢) What is Fisher Effect?
P el & 9
() What do you mean by consumption puzzle?
olee ikl FeTce & @i 9
(g) What is Solow residual?
Solow-43 SRf*E F57ce F @RI ¢
(h) What is inventory investment?

epe-RfCe I 30T 9

2. Answer any four questions from the following: 5x4 =20
fasfie - e elvss Teg nies

(a) According to the Growth Accounting Approach, what are the sources of
economic growth?

Wi s oo SPE Sl Sfem Teorefe & & 9
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Show that for binding borrowing constraint, consumption depends only on
current income.

YT SR A (SR NG (6] IO SNEE Sod fToa et —p1 Sl

How Tobin’s q is related to Neo-classical theory of investment?

SRR e Tt srea [ $oed e 7y 9

How an income tax on corporate profit affects investment decision?
Affere k=R e Tor 31 [Fel RfTaies e geiie 3@ ¢

What is steady state? Derive the steady state condition in the Solow growth
model.

SR SIFAN T 09 F @R 2 Solow-93 iﬁ?ﬂ%W oM SR SR
*S (9 A |

Using Regressive expectation model show that the individual demand for money
is a ‘step function’.

eyt erepl wre S bifgnl @A @ G A-SeES 9 I T

Answer any two questions from the following:
fasfeie - 7 evs Teq wies

What is meant by ‘risk aversion’? Discuss how risk averting individual would
determine optimum portfolio diversification between money and bond. Derive the
demand for money curve in this context.

A ~IfFe e & @RI = 92 I e e 5l ¢ 0o @ FeiE o
(G Fotnd S 3B T 9 @B 2P Wl bifem @i @@ S

Show that the Harrod-Domar equilibrium condition implies a ‘knife-edge
equilibrium’ for a free enterprise economy.

& TWIeR SRR FIRe-(OMIE 2Biie Sy =t o SN s
SRECS WO FE —10 I

What is the limitation of Keynesian Absolute Income Hypothesis? How does the
Life Cycle Hypothesis of consumption propose to overcome that?

(F2H-G3 HAN O g ANAFI & 9 @3 FAws! 17 T (FCG (SR GIAbes
©Cgd BRI 2

What do you mean by Golden Rule level of capital accumulation in the Solow
growth model? Derive the condition that describe the Golden Rule.

Solow T WG Y @R Féffe fww o0 & @it ¢ @2 fwfo e
fofg s 9

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.

10x2 =20

2+5+3

2+8

5+5



